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interface Module{ i
/I PCEIRDATIVBZEZNFIELTGRLET "CPU", "VORRE
String getCategory();
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void showlInfor();

}

II'N\—=FF« 20052 (Bl

class HardDrive implements Module{// 1 >& 20 T —AMDE%
private String hame;
private int capacity;

HardDrive(String n, int c){
name=n;
capacity=c;

public String getCategory()}{
return "HardDrive";

public void showlInfor(){
System.out.printin(name+", "+capacity+"GB");
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class Assignment8_2{
public static void main(String[] args){
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Module[] modules=new Module[3];
modules[0]=new HardDrive("Seagate HDD",750);
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for(int i=0;i<modules.length;i++){
System.out.printin(modules[i].getCategory());
modules]i].showInfor();
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final class Manager{
i
I f$A%  Manager.listModules(Modulel]);
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public static void listModules(Module[] m){
System.out.printin('[/ \— Y —&// V=V #:"+m.length+"{&]");
for(int i=0;i<m.length;i++){
System.out.println("+------------ ")'
System.out.printin("| Parts no."+i);
System.out.printin("Category "+m{[i].getCategory());
m([i].showInfor();
System.out.printin();

}

}
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public static void selectedModules(Module[] m, String target){
System.out.printin("[ER/\—Y —&/"+target+"]");
for(int i=0,j=0;i<m.length;i++){
if(m[i].getCategory()==target){
System.out.println(*'+------------ ")'
System.out.printin("| Parts no."+j++);
System.out.println("Category "+m{[i].getCategory());
m[i].showInfor();
System.out.printin();

}
}

}
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Il 8% Manager.countModules(Module[], String);
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public static int countModules(Module[] m, String target){
int cnt=0;
for(int i=0;i<m.length;i++)
if(m[i].getCategory()==target)cnt++;
return cnt;
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interface Operation{

int getNumOfOperands(); I ZXZ Y FOHERUET

void setOperands(double[] values); I ZRS Y FZEBRELET

String getExpression(); Il BEUCARS Y FTHRZERLET
double getAnswer(); Il BEURANRS Y FCTHDOBRZRLET

}
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class Distance implements Operation{
private double x1, y1, x2, y2;

public int getNumOfOperands(){
return(4);

public void setOperands(double[] values){
x1=values[0]; yl=values[1];
x2=values|2]; y2=values|3];

public Strlng getExpressmn(){
return("EERZ("+x1+","+y1+") C EERE ("+x2+""+y2+" A (D ER BE?");

public double getAnswer(){
return(Math.sqrt(Math.pow(x1-x2,2)+Math.pow(y1-y2,2)));
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class Addition implements Operation{

private double n1, n2;

public int getNumOfOperands(){
return(2);

public void setOperandsﬁdoubIe[] values){
nl=values[0]; n2=values[1];

public String getExpression(){
return(n1+"+"+n2+"?");

}
public double getAnswer(){
return(n1+n2);
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final class PrintQuestion{

}
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public static void prtWithRand(Operation op){
double[] values=new double[op.getNumOfOperands()];
for(int i=0;i<values.length;i++)

valuesl[i]=(int)(Math.random()*10);

op.setOperands(values);
System.out.printin("Q."+op.getExpression());
System.out.printin("A."+op.getAnswer());

}
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public static void prtWithValues(Operation op, double[] values){
op.setOperands(values);
System.out.printin("Q."+op.getExpression());
System.out.printin("A."+op.getAnswer());

}

class Assignment8_4{

}

public static void main(String[] args){
Distance dis=new Distance();
Addition add=new Addition();
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PrintQuestion.prtwWithRand(dis);
PrintQuestion.prtWithRand(add);
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